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QUESTION 1

A disk group with four disks contains a two-column striped and mirrored volume.

Which step must be performed first to change the volume to have three columns without losing the redundancy?
A. use the vxassist command to relayout the volume

B. use the vxrelayout command to relayout the volume

C. use the vxassist command to convert the volume

D. use the vxdg command to add two disks to the disk group

Correct Answer: D

QUESTION 2

In which two situations is a Data Change Log automatically created when mirroring an existing volume? (Select two.)
A. Any time a volume is mirrored.

B. The volume was created on thick LUNSs.

C. SmartMove is enabled on the volume.

D. The volume is larger than 1G.

E. The volume was created on thin LUNSs.

Correct Answer: CE

QUESTION 3

What must be true in the DNS setup to establish load sharing via DNS round robin across multiple SMTP gateway
servers?

A. the preference numbers or weightings of the MX records must be the same

B. the Ptr records for the servers must point to the same hostname

C. the load sharing attribute must reference a valid hardware load balancer with an externally routable IP address
D. the preference numbers of the A records must be set to 10

Correct Answer: A

QUESTION 4
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Which switch needs to be added to the vxdg -g diskgroup adddisk disk_name command to force Veritas Volume
Manager (VxVM) to take the disk media name of the failed disk and assign it to a replacement disk?

A. -force
B. -k

C.

D. -assign

Correct Answer: B

QUESTION 5

An administrator only has the inode number of a file. Which command should the administrator run to get the full path
name for the file?

A. fsadm
B. fsmap
C. fsapadm
D. ff

Correct Answer: D

QUESTION 6

Which statement is true regarding the encryption support on Symantec Mail Security 83007

A. Enabling encryption requires a Premium Content Control license.

B. Administrators can configure a set of remote domains that require TLS encryption.

C. Encrypted messages can be routed to the Web Messenger for storage and end user access.

D. Encryption support always requires integrating with a third party vendor, such as PGP or Voltage.

Correct Answer: B

QUESTION 7

Which command displays thin provisioning capable devices?
A. vxdisk

B. vxdefault

C. vxddladm
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D. vxdmpadm

Correct Answer: B

QUESTION 8

Which would receive a spam verdict from Symantec?

A. an unwanted account statement from an recipient\\'s financial institution
B. unsolicited email

C. an email that has seven instances of the term \\'viagra\\

D. unsolicited commercial bulk email

Correct Answer: D

QUESTION 9

Which advantage does the Data Change Object (DCO) feature provide?
A. optimized resynchronization of stale volume data

B. optimized SmartMove

C. optimized replication of volume data

D. optimized file compression

Correct Answer: A

QUESTION 10

Which two types of virtual storage provide data redundancy? (Select two.)
A. concatenate

B. RAID-5

C. stripe

D. mirror

E. RAID-0

Correct Answer: BD

QUESTION 11
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Which command should be used to determine the existing Array Support Libraries (ASL) and supported disk arrays on
an existing system?

A. vxprint

B. vxddladm
C. vxdmpadm
D. vxcheckasl

Correct Answer: B

QUESTION 12

Which option allows creation of various RAID levels when using the vxassist utility?
A. raid=

B. type=

C. level=

D. layout=

Correct Answer: D

QUESTION 13

Which three are valid configuration options when working with compliance folders? (Select three.)
A. the format of the notification email

B. the incident archive tag

C. the retention time for compliance incidents

D. the maximum size for all compliance folders

Correct Answer: ABD

QUESTION 14

Which three are options for invalid recipient handling? (Select three.)
A. Reject invalid recipients

B. Accept all recipients

C. Drop invalid recipients
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D. Quarantine invalid recipients

Correct Answer: ABC

QUESTION 15

The Concurrent 1/0 (CIO) option is enabled for a mounted Veritas File System (VxFS). What must be done to disable
it?

A. use the remount option to the mount command without specifying cio
B. unmount the file system and then mount it again without specifying cio
C. run vxtunefs

D. run vxtune

Correct Answer: B
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